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Vol: 4.0 m3

Arc cost (fixed): 44
ArcsSkidding cost (m=3): 2.0

Arc 1

Arc 2

Vol: 2.0 m3

i \ol: 3.5 m-3




TwO cases

* Transport to given landings
 Allocation of transport and landing




J- Transport to given landings (link model)

SLU

Val: 4.0 m3 Arc 1

Vol: 2.0 m?

« Egl: sum of flow on arcs to node i + volume at node | =
sum of flow out of node |

 Eq. 2: flow on arc betweeniand | <=M - open arc between
| and | {0,1}




Solution strategies




S

Test area

5650?0

o
o
S g
=
=
o
<

4044000

e ~2.600 nodes
= ha
e 1-3 machines

4040000
1
Ll
4040000

Legend

@ cCandidate landing location
Unit boundary
Protected zone
contour lines (75m)
DEM ™ High : 2206

M ow: 178

566000 572000



JL 1 machine

SLU 215000

2EN IS

213000
(3 hours run time) =
211000
210000
209000
208000
207000

2 machines CENEIIES

215000 215000
214000 214000
213000 213000
212000
211000
210000

212000
211000
210000 209000
209000 208000
208000 207000
207000 206000

0




S

SLU

Flow
pattern




A Allocation of transport AND landing
>t (route model)

e Create route from node i1 to a landing L -
1. Variable cost known

2. Know what arcs to open - use r from i {0,1} <= open needed arc
(m-n) {0,1}




Discussion points

 Manual solution OK?

 Flow of wood — but what about turns of skidder?

 CCF and larger scale planning?




